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General Instructions :

1.
2.

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the Objective type of questions, you have to choose any one of the four alternatives given in the
question, i.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book given to
you.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

(@) The Question Paper is Bilingual, i.e., English and Hindi. However, if you wish, you can
answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Odiya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in
the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.

Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth, Earphone or any such
electronic devices in the examination hall.

In case of any doubt or confusion in the question paper, the English version will prevail.

Write your Question Paper code No. 68/SS/O-A, on the Answer-Book.
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1.

2.

TheTedt -1 o U8l IS W STUAT SIhHIG 31w A |

FUAT Y- BT S o o Te-T % ol T3 a1 THi 1 St & e § St Jom U % qag IR
T ¥ 1 3H 91 H S o A R 7o owfos w9 H €

TS Tl § SATqent IR fashedi (A), (B), (C) G (D) H ¥ ahIE Weh ST 1 & 9201 & TE STR-gfient §
Y Hel SR o |

IW-Yfedert § qgaH-fag oM e ffdse Tl o stfafiad &2 i st foram o gdemeit =61 sriv
e ST |

(F) TA-9F haa stish /RS aem 1 71 fRe oft, 3fc oo =€ @1 F= & T fore T v H S| e
g:

sfirsh, fedt, 3¢, el sTel, affe, Heraerd, weTe, o, WIS, Sfedn, e, sk, fvrgd,
31, e, HYH, Hephd IR fot

FoT SR-YRert B fou e st B fod o oy g oo § 3w form @ ¥

(@) Ife =9 &< we A0S o ifafied fedt o= v & S fogd € 91 939 6l 99 § 89 darel
Ffedi /et st ST wee staeht 2|

weeff b wdien gfet § Shopoier, TEEA B, T2, STHE S fREr off sl S 1 of S &t
3THfa & T

TIA-T | fohell off 9ohR o Heg Aoan gfaen ot feafa § Sf3sit s1are & 9= g

STTT STl T I9-95 &t sie 9& 68/SS/0-A fad |
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GENDER STUDIES
TR 37T
(340)

Time : 3 Hours | [ Maximum Marks : 100
| : 39S ] [ gutik : 100

Note :

(i)
(i)
(i)

(iv)

This question paper consists of 47 questions in all.

All questions are compulsory and carry marks as indicated against each question.

Section - A consists of Question Number 1 to 30 as follows.

(@) Q.Nos. 1 to 20 - are Multiple Choice Questions carrying 1 mark each. For these questions,
you have to choose the most appropriate answer from amongst the four choices given as
(A), (B), () and (D).

(b) Q.Nos. 21 to 30 - are other Objective-Type Questions. Marks are indicated against each
question. Attempt as per instructions given therein with each such question.

Section - B consists of Question Nos. 31 to 47 :

(a) Q.Nos. 31 to 37 - are Very Short Answer Type Questions. Each question carries 2 marks, to
be answered in the range of 80 to 120 words.

(b) Q.Nos. 38 to 44 - are Short Answer Type Questions. Each question carries 3 marks, to be
answered in the range of 150 to 200 words.

() Q.Nos. 45 to 47 - are Long Answer Type Questions. Each question carries 5 marks, to be
answered in the range of 400 to 500 words.

3 I H Fe 47 T

[eft we e € 1 TAF U % 3 3@ U % 9 few e ¥

QU - & | YA G& 19 30 d% AR ¥ |

(a) WY HEAT 19 20 - T Sgfoheda U €, 6 T 799 1 3% &1 7| I g ¥ fou U 9w
fashedi (A), (B), (C) 3R (D) # ¥ Tard I9gad fasheq @1 == i iR fod |

(b) Y HEAT 21 § 30 - Toh (TS TR o T 2 | Tedeh T o 31k 36 T4 & | fou T 8 |y
e o fore fou T el o S8R 39 91 6 SW S|

EUE - @ W U HEA 31 W47 T ¥

(a) WY WEAT 31 9 37,2 - 31k & 3Afq TSI YR & U9 €, T SR 80 ¥ 120 w=af H < ¥

(b) WY WEAT 38 T 44, 3 - 31 & TYSWIF FhR & T €, 57 3T 150 F 200 vreaf H 3 ¥ |

(c) U GWEAT 45 3R 47,5 - 3 & ¥ T YR & T €, 51k 3T 400 H 500 vreaf § <A |

(1)

()

A

Answer of all questions are to be given in the Answer-Book given to you. )
Goft Tl o I 3TM9eh! < TS ITR-YRewt | 2 fod |

15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 2 : 15 p.m. From 2: 15 p.m. to 2 : 30 p.m., the students will read the question paper
only and will not write any answer on the Answer-Book during this period.

39 YI-T3 %l UeA o fore 15 fiee =1 oo fean won § 1 gee-vot ot faraor Sruek § 2 : 15 =91 foman s |
TUEX 2: 15 TSt | 2:30 99 dF B HIA YA-IF Hl UG AR 3@ AfY & I I
IR | FE W T @ |
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SECTION - A /@UE - <

Answer all multiple choice questions.

[t sgfahed™a gel o IW AT |

1.  Itis generally assumed that those who have the primary and secondary sexual characteristics
will fall into the category of
(A) Sex (B) Gender
(€) Kinship (D) None of the above

AR T I8 /1 51§ T f57 ot 5 wrerfies @i fadiaes a9 fodiaard 2t €, 3 29 9oft & o §

(A) T (B) fan
(C) e deiwr fgderd (D) T 9 HE &

2.  Gay Pride Flag was designed by Gilbert Baker in the year

(A) 1978 (B) 1979 (C) 1980 (D) 1981

AT TTRE tors] fiTeard sieht g1 oh ERESEERCRIRRIRIT

(A) 1978 (B) 1979 (C) 1980 (D) 1981
3.  What is common among Gosha, Indrani, Maitreyi and Gargi ?

(A) They were all Freedom Fighters (B) They were all Learned Women
(C) They were all Tribal Leaders (D) They were all Princess

Tirem, geToft, FRA TR TN H N THED § 2
(A) 3 e Lol 9T off | (B) < Ha foge of |
(C) o He sffeare =ar (45f) off | (D) & el TSipmIAr off |

4. Who wrote Padmavat in 1540 A.D ?

(A) Malik Muhammad Jaisi (B) Shahab-Ud-Din
(C) Muiz-Ud-Din (D) Ala-Ud-Din Khilji
1540 3. H gHmed forer forgt oft ?

(A) HAf Hier g ST (B) VMES-3E-GH

(C) HS-Se-g (D) SrsEd faarst

Y
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5.  According to Hindu Succession Act 1956, the word ‘common’ or ‘joint’ property indicate : 1
(A) Two or more married couple with a sibling bond
(B) All family members have a share in the paternal property across generations
(C) Property can be passed on to sons only
(D) All of the above

g ITMR s1fafTad, 1956 o ATOR, ‘|MF’ A1 ' He’ dufd wes 9 acad §
(A) A E sferk faanfed Sre o8 wig—s@A o1 e 2

(B) W+ URER & Hewl A Wel-X-Ne Iges Hufa & fewn foran &1

(C) wufa fadh o2 1 & <t 7 A

(D) Wi qf forehe

6. Advantages of Registration of marriage : 1
(A) Prevents child marriages
(B) Provide a government certificate as a evidence of marriage
(C) Can be used as valid document for nomination in bank, insurance and property
(D) All of the above

forame o dSiieRto & ey |

(A) oA foreme WA |

(B) foreme % v % €9 H TRHN Y- FHerd §

(C) ¥, s IR Fufa # mishd & fow d Swmas & €9 H swe foran s geha 71
(

)
D) 9K |l ferehey

7.  For an individual, placement in a sex category is achieved through . 1
(A) Our social relationship (B) Our Names
(€©) Our Chromosomes (D) Our kins
foreft =afer < ferg fefm Soft # worm Ao 1 & 9 50 w1eqd @ o fohan ST Hehdi €
(A) THER g Red (B) BHR M
(C) THER UG (D) &R TR
8.  Tejaswini project is being implemented in which state to improve the education of adolescent 1
girls and women ?
(A) Odisha (B) Rajasthan (C) Chhattisgarh (D) Jharkhand

ferenfal 2R afgensti 1 foren # gur oM & forg ‘ qeifeat ' ufEem fora Tsa B srifad st @
72
(A) eifesn (B)  rSTEAM () BHETE (D)

RES
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10.

11.

12.

Which ancient text point out three main aims of marriage, which include Dharma 1

(fulfilment of religious duties considered as the highest aim of marriage), Praja (Progeny)

and Rati (sexual pleasure) ?

(A)

Islamic (B) Hindu (C) Christian (D) Baudh

T U= T St foramg o 9 g Sewdl ol ST el © fores o (et el i gfd fod faame

1 TaTed LTI M1 ST §) ST (Far) 1R I (I g@) e

(A) T (B) feg (C) duE (D) g
Under the Indian Succession Act, 1925 A Christian daughter is entitled to : 1
(A) 1/2 of the son’s share or 5000 whichever is less.

(B)
(©)
(D)

1/4% of the son’s share and 10000 whichever is less.
1/4™ of the son’s share and 5000 whichever is less.
1/3'4 of the son’s share and 5000 whichever is less.

YA SR ATl 1925 o d&d, Teh 9 dl gheR © |

(A) o2 w1 1/2 &= a1 5000, S off *H B

(B) =1 &1 1/4 fewan A1 10,000, S off %7 2|

(C) =1 &1 1/4 feman = 5000, St +ff &9 2|

(D) o2 &1 1/3 f&wan =1 5000, St off &7 2

Hindu Succession Amendment (2005) Act came into effect on : 1
(A) 9th July 2005 (B) 9th August 2005

(C) 9th September 2005 (D) 9th October 2005

feg ITfepr Helea (2005) sAfufm T AR g

(A) 9 @ 2005 (B) 9 3T 2005

(C) 9 f&dw 2005 (D) 9 SRR 2005

What changes were made by the Criminal Law (Amendment) Act of 2013 or the Anti-Rape 1

Bill ?
(A)
(B)
©)
(D)

Defines a broad range of sexual crimes like sexual voyeurism and stalking.
Penalises the Police Officers responsible for the non-registration of the FIR.
Make easier reporting of the incident by a rape victim.

All the above

STUfYeR A (Hened) Afufem 2013 A1 seierr foridht faeges gr s afterd ferg T ?

(A)
(B)
©)
(D)

A 7YY S A qTh-3ih AR TST FEAT 2N T Uk forga Sfen 1 aRenfod wwan §

TH.3TE.3TR. TS A & o fag SRR qfaw sIfusriia =61 <fea forar S
AT Tifeal §RT =T @t U TSt A1 SATEM ST S |

U 9T faerea |
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13. Indecent representation is also a gross violation of Article of Fundamental Right
of Constitution of India.

(A) 14 (B) 18 ) 21 (D) 33
g fov Ra & Gfaum & qa ARl % o= 1 o HR ST T
(A) 14 (B) 18 ©) 21 (D) 33

14. Gender Fair Language (GFL) was developed in response to gender-based structural disparity.
Identify the statement that is incorrect.
(A) It was meant to promote gender stereotyping
(B) It aimed to eliminate gender disparity in addressing men and women
(C) It was meant to minimise prejudice in language
(D) Replace machine forms with gender-unmarked farms
feiT ST HTerTeeh STEHIdl o S H et &5 &t 9o (S.Uh.Te.) forshfd =i 78 off |
A Y T TG h |
(A) THHR 3 WifiTeh Sfganfad! sl sl ol o |
(B) SHHI 3 LI IR Afgensll o o= WifiTeh STHHMT Sl FHIG HEAT o |
(C) ST 3L 1 H YAIUE i hH HLAT A1
(D) gfeei iR sifafea 4 @1 gfed w9 9 gfawenfyd e |

15. Which of the following is not correct about kinship ?
(A) Recognition of relatives through a blood relationship.
(B) Recognition of relatives through marriage (called affinity).
(C) It provides a way of transmitting status and property from one generation to the next.
(D) Establishes and maintains non-confidential social groups.

eR!  foma § 11 § § HiH-91 e wE T 72

(A) o Heiy & T | fRederi & qear |

(B) faare (ewediaar) & weaw ¥ Rederl i ug=H |

(C) I8 T W | gudt Wit aop fearfa ofR wufa =i exaiafka 37 1 Tk i1 UM 3l S
(D)  TR-goreeIedt SIS TUel i T 3R TEREm 6 ¢ |

16. The Sexual Harassment of Women at Workplace Act (2013) protect women against sexual
harassment in Public or Private workplaces. The act make it mandatory to constitute an ICC
in all offices with :

(A) Ten or more employees (B) 50 or more employees
(C) 100 or more employees (D) Number is not important

A Iedted, swrkye W Afgen tfufm 2013, Adstw a1 freit wrfte § 99 3cdfiet & faans
Tfgetteli s & Ll §, I8 ATam Tt e o & WY 3TE HY G 1 TS e
TR |

(A) 10 3TR 399 Aferss =il (B) 50 3T 3u¥ sk =il

(C) 100 3R 3TH sAfereh =i (D) ¥e Heeql TRl |

Y
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17.

18.

19.

20.

21.

Y
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“Males are the sole decision - makers in the Family” this could be attributed to :

(A) Joint Family (B) Patriarchal Family

(C) Matriarchal Family (D) Nuclear Family

“oftar | qew & Tehas frofaedl 2d €177 39 RO B Hha T

(A) HgH IRER (B) fugesicHer afer

(C) HIgEcHeh TEr (D) Tsd IRER

What is common about these terms Parent, Relative and Child ?

(A) Masculine terms (B) Feminine terms

(C) Gender Neutral (D) Gender specific terms

AfyTaeh, figdeRr 3R s=a, 39 vIsal H -1 HHMEAT § ?

(A) gfeeT g (B) el o=t

(C) foim deey (D) fan fafre ssg

Who was The First Person to raise the issue of the relationship between Gender and Language ?

(A) Robin Lakoff  (B) Robin Merton (C) Rubina Lakoff (D) R.K. Merton

T SR T & Sre Helel 1 Gey 33M aTet Ugel SAfad i 9 ?

(A) fe TR (B) fed weA (C) ®I ehlm (D) SR, WA

The Child Marriage Restraint Act of 1929 was unable to produce the results as envisage.

When was the new law, the prohibition of Child Marriage act, passed that added punishment

of rigorous imprisonment and fine for the accused ?

(A) 1930 (B) 1954 (C) 1961 (D) 2006

T 1929 o1 a1 faame fRiges sifafrem stafea aRom <9 & srawd @1 ora foamg fivy stfufem

T A1 HIA hal TG g3t Fad gl & faT FeR wRam™ 3R JHH &l Fs7 Set T8 ?

(A) 1930 (B) 1954 (C) 1961 (D) 2006

Fill in the blanks :

(a) is a measure of the number of deaths in a given population.

(b) According to “health is a state of complete physical, mental and social
well being and not merely the absence of disease or infirmity”.

(c) is the average number of children born per woman.

Rad T ‘qﬁq :

(a) fordll < T8 SEEN § g 1 G H A T

(b) % TUR ‘' wareeAqul wiRen, A oiR wmifseh e &t feufa €, 7 &
hael SHRT A1 geierdl st sTqafefd |’

©) yfa wfecn S o a1el sl ot ofrEd Sem g



22. Fill in the blanks : 3

(a) Article talks about certain principles of Policy that need to be followed by
the state, which are securing adequate means of livelihood equally for men and women,
equal pay for equal work to men and women and the health and strength of workers,
both of men and women are not abused.

(b) Article requires the state to make provision for securing humane work
conditions and maternity relief.

(c) Article provides for early childhood care and education to children below
the age of six. The state has to provide early childhood care and education to all
children.

e T 9w

(a) STT=T Hifd & Fo fagidl & o H 9 w1 © S0 T 5/ aed fRma S

wifew, S gl iR afgensti & fag um w9 @ srehfae & qata e ghafied s ® € gl
TR Afgensll 1 W9 M & oI THE a7 iR afiyeni o e IR wfad o1 geua T2 fohan

SRR

(b) 3AT=HT T 17 = AFeE ®E feafiEl ok A Ted @ gifaa w9 % fag
TEHH H STLIH ¢ |

() IT=% Te I8 ¥ FH Y & dedl & AU IRE T99T @ IR e yem

AT B | T 1 G} o=l ol YRV =9 S@are 37T f3ien Yo e sied ¥

23. Define in one word / phrase :

(a) A trade union founded in 1972 by Gandhian civil rights leader Dr. Ela Bhatt for poor
self-employed women.

(b) A scheme launched on April 2015 for providing loans of upto 10 lakhs to promote
aspiring women entrepreneurs.

(c) Name given to sector 50 metro station by Noida Metro Rail Corporation dedicated to
the transgender community.

Teh TI&c AT AT H IR hifaw |

(a) T 1972 | TiefaTEl MR AfRR AT . 3o ¥g g TRie WisIRa Afsarel % fau
T T ¢ I |

(b) 37U 2015 H HEwTehial Afger AT hl TG <7 o fT 10 TR Tk 1 B9 I&H HH =g
T AT & i T |

(c) TITer A Yo fm gR Tt 50 & Wl Wy 1 8 Faid 99 Ziesiel YU i gufid fwar
TR

Y
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24. Answer the following questions :

(a) Sir Henry Maine coined the term to describe the patrilineal type of extended family
where all the male members have the Joint ownership.

(b)  According to which Act, the word “Common or Joint Property” indicates that all family
members have a share in the paternal property across generations.

(c) In this Family, the couples having lineal link live under one roof.

= forg ool o S fafa

(a) TR T 7 38 V=g ! faanfia qRan & faqesiia werR 1 oo s & forg wren o, st @
&Y FeHl 1 G W el ¥ |

(b) g rfufem & TTER = =1 S SuiA 1 ST 8 <9 § o aRar & 9 ge=i 3
difeali | Uge gufa = aren fean 7

(c) 9 9RER ¥ Fafy denma day TEe ol Sie T & ©d & A ®d ¢

25. Answer True/False type :

(a) Component of the minimum wage Act 1948 also includes regular revision of wages,
apart from provision for minimum wages. (True/False)

(b) Living wage includes the wage which can only meet the base physical needs of a worker
and his family. (True/False)

W& /T SaET |

(a) IAdH FSIGY SATUMTH 1948 o Feah! H =[IaH HeIgd % YEYM & STarel Heigd & FHafda
Geled off e § 1 (FE/Te)

(b) S fafe Aegd # o7 Teigd WiHA § S haat gfies SR SHe URaR i i) sl &l
T L Gl § | (TR

26. Answer True/False type :

(@) “Sex” refers to Psychological differences whereas “gender” refers to physiological
characteristics. (True/False)

(b)  Socialization happens actively and passively. (True/False)

W& /T 1Sy |
(a) HFG F AHE TGS FR F T Tafw A () &1 aead i fawmansti 4 §)
(SRI/Tea)

(b) GETSTeRTE |ika IR fAfeRa 31 w9 € & 7 | (WR/ATe)

Y
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27. Answer True/False type :

(a) InIndia the Literacy rate does not vary between Urban and Rural areas. (True/False)

(b) As they move to higher classes in school the proportion of girls becomes more than

boys. (True/False)
W /Ted Sy |

(a) WA H FIaRdl X vl IR yetor & o st fue e 2t ¥ 1 (W)
(b) SH-SH I WA H I=9 HaNSA H I §, ASfRAl I I ASH! 9 3w & S

(T&I/ATeTa)

28. Write full form of the following :
foreferfiaa % g Y fafe :
(a) SUMAN (b) AYUSH
29. Match the Column-A with Column-B :
Column - A
(a) Ideal Teacher Pupil Ratio
(b) SSA

() Cluster-wise model Shcools to
have better community
engagement of girls in schools

(d) EBBS-Residential schools for girls

HIAH - A T R - B & 91 fHam wifsa

HiH - A

(a) Tl feen B A

(b) TETHT

(c) FTEIER Hied&hd § Bl |
EEERIERRNEE NI HIRED
wewIfiTan gifvea grtt

(d) sTE. e farmeE
aeforat & fag

68/SS,/0-340-A ] 11

1x4=4

JSSK (d) ARSH

Column - B
1997

Kasturba Gandhi Balika Vidyalaya
(KGB'’s)
NPEGEL

1:30

Universalization of Elementary
Education
1988

~

e - B

1997

RS TR et fommer
LG A A AL

yifier e o grddifaenor

1988

(=]} =]
=8 [ Contd...



30. NPEGEL (National Programme for Education of Girls at Elementary Level) is one of the
various initiatives taken by government for providing better opportunities to girls to be educated
under SSA. This programme was introduced to make education available for girls from places
which are hard to reach. Its focus was to attend girls those were not in school. This programme
was launched in 2003 as one of the significant component of SSA. Its objective was to provide
additional support for educational access to girls.

It is important to note that the Sarva Shiksha Abhiyan was launched in the year 2001-2003
for universalization of elementary education in India. The effort was to provide education to
all without any discrimination. The objective was also to enhance the capability of the children
via education. There were fewer provisions for supporting girls” education and hence NPEGEL
was introduced to provide maximum support to girls” education.

Read the passage and answer the questions that follows : 1x4=4
(a) What was the main objective of Sarva Shiksha Abhiyan ?

(b) When was NPEGEL lanunched as one of the important component of SSA ?

(c)  Why there were fewer provisions for supporting girls education ?

(d) How can we enhance the capabilities of children ?

TIfHeh R W ASihal i fren o fae T 1 € St § T T HeishH TH TH T o qed aSihdl i
forferd 2 % S5 STIEY YSH 7 o T TR gR1 & T8 fafy= Teai H § T © | 59 Hrishd &l
BT I SEI ! Treiehall o Ty fen Sueisy oM & faw =i 78 off, ST ug= qivehel & | s
32 I ARl ol TI&T IUCTeH HIAT o1 S Whed el Sl off | 39 kA i 2003 H TA.THE.T H
eIl Wkl B ¥ T & ®9 H Y& A1 T o, TEHT ¥ ASfRAl i fnen 9 wgen &% o
E NS ISHENPHE TSR

T AN A Heed Ui ¢ foh wRa H werfies e & wreifieRtor & forg ad 2001 § 2003 & 99 fan
ST T YT 1 75 off | SHhT ¥ To1 forddt dgure o weft =l foren Uem 3 o1 | 59T
39T T1eT o WeAH 9 S=dl ot ama Sl off SgM1 o1 | ARl i fien % wmeH &% e g +u
JaYH § iR gafay wTefwal =t foren & foru stftreran Tme™ gy & & foae wa ot € it € ua &t
e I TS |

S ST T o @ie i qgahs FAfafad 991 & W i :

(a) wd fren STy o1 q&a 32w o= o1 ?

(b) THTHT & HEAYU ¥eeh & &4 H T § St € TA ol vl =gl fehall T o1 2

(c) wIefRal sl foran & fore »m graam =i 92

(d) 79 S=di Sl &l I fRhH YRR e TR € ?

SECTION -B/@vus - &
Very short answer type questions.

fe -3 YT oh ST ST ¢

31. What is the difference between sex and gender ? 2
T SR ST (fe) # o o wifs |

Y
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32.

33.

34.

35.

36.

37.

38.

(a) What is the importance of gendered socialisation ? 2

feiT e SIS i1 1 78 @ ?

OR / 3Agar
(b)  Describe the practice of “Niyoga System”.
TN JOTTedt o @79 o1 S0 ShifeI |
What do you understand by the “Devadasi System” ? 2
ST UMt & 1T T T € ?
(a) What are the different types of cyber-crimes ? 2

TS AIY & Taf= IR == 2

OR / 3teran
(b) Explain the concept of streedhan.
AU T SAURON shl T Hife(q |
Explain the importance of “Proteins” and “Fats” in the balanced diet for women during 2

pregnancy.

Tferee & S Afgenel % fou Hqferd SR § W SR a9 % Hecd %1 guEEt |

Mention two characteristic visible Features that distinguish adolescent boys from adolescent 2
girls.

eIk TSl ! TR aTefordl | ST e arelt o fafdre g9 fagrarsti &1 Seor@ it |

(a) Who are ASHA workers ? 2
ST SHrefhall i & 2
OR / 3tgan
(b) What is the Menstrual Hygiene Scheme ?

qifeeh o TSl A _OF’:IT%?

Short Answer type questions :

- YT oh I ST

Comment on the overall status of women during the era of Buddism and Jainism. 3

Srg &R S o % g0 § afeensti o THu feafq w feuol wifsw)

Y
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39.

40.
41.

42.

43.

44.

Y
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(a) How has the process of urbanisation impacted the family system ?

SRR 1 Tfshall 7 TRER Jomett o1 fohe FerR geiferd foram 2
OR / 3teran
(b) How can gender disparities in language be minimised ? Explain with examples.

a1 § Tk STHAMT Bl 8 A fohan ST Tehdl § ? Sl |igd g9eet |

Suggest any 3 measures that would contribute in improving women’s participation in work.

e T U YET S M H Afeanrsti ot qFieRT 61 9gd aH § A0 < |

With examples discuss how gender stereolypics are reflected on media.

Tifean # oifiier Sganfear & wfafsifea St &2 et dfed Seor@ sifsm |

(a) What was the essence of the educational philosophy of Mahatma Jyotiba Phule ?
TETCHT SATfe Gl o AfeTeh S o1 WX 3 o1 ?
OR / 3A<ar

(b) What were the main highlights of National Policy for the empowernment of women,
2001 ?

T Hfgen Foifaassior ifa 2001 1 g foRivand = o ?

State the Personal Laws of Marriage in Muslims.

qEAHH § foemg o sAfoRTd A i Seoid HifIT |

(a) Cite the reasons why difference theory can also be called two culture theory.
3R fagia =i <1 Hepfa fagia ot =1 el a1 €2 RO 9dRy |
OR / 3<qar
(b) How does folk media acts a powerful media to connect people ?

Ak Hifean fFa YR il 1 SireA o1 TTem § 2




Long Answer questions.

-3 YgT oh I ST

45. What is meant by gendered socialization and how does the family act as a passive agent of
socialisation ?

foim senfia TSRt @ = 9™ & q2 IRaR FASR § T it Tele & &9 # forg g
I R B ?

OR / ALaT
Mention the view’s of Manu on Women.

wfgensdi o Hay ¥ ‘7' & fo=ari o1 9o s

46. (a) Explain various challenges faced by adolescents.
foRiRl 3 T o1 et fafym Aol 3 9 § sand |
OR / 3AYaTr
(b)  Explain, why do we have more men than women in the institutions of governance ?
we Heensi § ufectisi S qor | qesl S g At i § 2 T i |
47. List out the salient features of the prohibition of child marriage Act, 2006.

a1 foare fy sfuft=m 2006 w1 ge faiodiet o getes il

-00o0-
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